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9310 E[FHET:AR 4 4 4 4 4 4 5 5 4 2
9320 H[5HETIL 5 6 5 6 3 7 4 2 8 3
9330 H[SHET/INE 3 5 4 2 4 6 6 5 1 9
9340 R [ZHTR 5 6 7 4 8 11 11 7 8 6
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9999 RIXXEt 17 13 9 16 20 15 14 24 22 17

99999 H&ET 815 858 857 823 852 916 964 908 933 994
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1260 B & 0 1 1 0 0 1 0 1 0 0
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1520 HEH T BT 14 11 13 14 13 4 5 6 10 5
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1540 K4EFHT 6 5 13 10 9 5 7 5 5 5
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2030 E0HT 1 1 4 1 0 0 0 0 2 0
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XH24 T IF REARBIRED—EREIZKYSNEANZEH-AO
[R3.6.30IR7E JATEET £ (K=F) AlE A AO (B)

THET (KF)a—F {THRHET (KF) 4 70 71 72 73 74 75 76 77 78 79
9210 $EAT = H 8 10 5 6 3 1 5 4 4 6
9220 $EHT T H 10 9 14 5 5 3 7 6 4 6
9230 $EHTE M 11 19 12 13 8 6 5 8 7 5
9240 $EHETIEE 2 3 4 3 3 0 4 1 4 5
9250 5% HT At #r b 2 8 5 12 6 4 4 4 5 2
9999 S XET 100 135 111 125 100 47 78 82 69 67
9310 E[FHET:AR 3 4 7 5 4 2 4 2 2 1
9320 H[5HETIL 3 8 6 5 5 3 6 4 1 5
9330 H[SHET/INE 5 4 2 1 0 3 1 2 1 6
9340 R [ZHTR 8 9 9 2 2 7 6 1 3 2
9999 R[GHXET 19 25 24 13 11 15 17 9 7 14
9410 RETT & 5 10 8 7 6 3 5 5 5 5
9420 RHETHHE 5 7 5 7 4 2 4 6 4 3
9430 RETFEXK 2 3 5 4 8 1 2 4 3 0
9440 RETAEF 0 0 1 0 0 0 1 0 0 0
9450 RHETHER 0 2 0 0 0 0 0 0 0 1
9460 RET{—_HE 1 0 2 0 0 1 0 0 0 1
9470 RETEXR 0 0 1 0 0 1 0 0 0 0
9480 RHETHER 1 0 1 4 0 3 0 0 0 1
9999 RIXXEt 14 22 23 22 18 11 12 15 12 11

99999 H&ET 970 1071 1110 1022 867 447 636 709 566 638
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2110 HEWIETET—T B 0 235
2120 HEMIFTETZ—T B 0 287
9999 £ ERXET 0 3616
2510 ¥AUEET 0 2074
2520 sk EeHT 0 1362
2530 = /INRHET 1 394
2540 FHi5HT 0 379
2550 ;HHET 0 215
2560 = SHT 0 868
2570 X SHT 0 78
9999 ME R X ET 1 5370
3010 K#THT 0 923
3020 ;1T HT 0 923
3030 _EEFHT 0 756
3040 & _LHET 0 125
3050 wyES AT 0 2287
3060 H A THET 1 445
3070 wyESEAT 0 432
3080 HHHHT 1 373
3090 H A E AT 0 396
3100 HHPFHHET 0 470
3110 EHAILHET 0 387
9999 /\ FHERXET 2 7517
3510 2R LHT 0 166
3520 £ R o 0 324
3530 2 & THT 0 930
3540 Z= B KHT 0 354
3550 AETHT 1 762
3560 = T ERAT 0 265
3570 = T FaMT 1 721
3580 FLIFTHT 0 556
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3590 EHT 0 11
9999 S HKXET 2 4089
4010 41| RET 0 301
4020 {E&HT 0 86
4030 5HT 0 223
4040 = HEAHT 0 193
4050 7K EHT 0 396
4060 E5Z HAT 0 345
4070 JtJRHET 0 165
4080 =;T;HAMT 0 207
4090 FR sk HET 0 321
4100 I FFOAT 0 145
4110 JtFFOET 0 146
9999 &M XET 0 2528
4510 EREE—ZEHT 0 694
4520 EREE — AT 0 163
4530 EREE=ZEHT 0 162
4540 B} EEIUZEET 0 112
4550 EREE L FHT 0 113
4560 AREENEHET 0 71
4570 EREE-HFHET 0 105
4580 AREE/\FHT 0 81
4590 EREE N FEHT 0 100
4600 EREE-+ZEHET 0 100
4610 EREE+—ZHHT 0 115
4620 B+ —FET 0 190
9999 ERERXET 0 2006
5010 BRF0H £ HT 0 182
5020 BAF0BAELET 0 142
5030 FAFNREI{—HT 0 176
9999 BRFIMXET 0 500
5510 b R HET 0 205
5520 = HhHET 0 568
5530 5= /T 0 441
5540 THEHRT 0 247
5550 FEHET 0 68
9999 =R X 5t 0 1529
6010 [E]ET/MER 0 87
6020 [F]HET 0 107
6030 [EET &I 0 92
6040 EizEIFHET 1 195
6050 JI|ABTE 0 141
6060 JI|EHETF 0 114
9999 BEERXET 1 736
6510 B &= AFGHET 0 22
6520 HZEAKIEHET 0 177
6530 B E AFTHHET 1 115
6540 HZEALLTHT 0 143
6550 B E A Z NET 0 71
6560 HERAIEILHET 1 111
6570 B & ALERIHET 0 120
6580 H&EAEHT 0 69
6590 HZE ATHET 0 32
6600 B &= AT 0 62
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6610 HEA L FEHT 0 43
6620 HZE A FoHET 0 33
6630 HZE AT FGHET 0 76
6640 H &= A EitslT 0 32
6650 B ZASHET 0 2
6660 HZ A RLHET 0 21
9999 HEARKKXET 2 1129
7010 — &M O ET 0 144
7020 — R AHT 0 211
7030 — R FRHAHET 0 81
7040 — BT KEFHT 1 178
7050 — R ¥y H I HET 0 98
9999 — R&XEt 1 712
8011 IRAETFGHERLY 0 47
8012 IR AHTFHERA 0 120
8013 Y AHTFEER (& 0 72
8021 IRAHTIZEKLY 0 73
8022 IRAHTIEKA 0 3
8023 IRAHTIEKIL 0 4
8031 IRAHETH ALY 0 127
8032 IRAHTH A A 0 8
8033 FAHETH AL 0 19
8041 R AHETHELIFZLY 0 52
8042 IR AHTELIRA 0 25
8043 IR AHTELIR L 0 12
8044 IR AHTELIRIC 0 22
8045 R AHETHELIR I 0 38
8050 YR AHTIRA 1 104
8060 IR AHTFT 0 104
8070 IJRABTER 0 78
8080 Ik AHT &k 0 41
8090 IR AHTHEE 0 35
8100 JRABTTH /1% 0 10
8110 IRAHTJII 5= 0 26
8120 IR AHTER" 0 66
8130 YRAHETH L 0 68
8140 IRAHBTHFRT 0 107
8150 IR AHBTHFRK L 1 81
9999 IRARK X5 2 1342
9010 +THTAKEH 0 563
9020 FTHTHEA 0 390
9030 +THTH & H 0 1254
9040 FTHIHESHE 0 1290
9999 FT X5t 0 3497
9110 SRETTTH & 0 502
9120 SFETH L 0 212
9130 $EHTH B 0 145
9140 SERT T4 1 393
9150 $RHT E§% 0 485
9160 SRETERHT 0 703
9170 $EATNEA 0 886
9180 #RHTER 1 504
9190 $ERT:Z O 0 209
9200 FEHTEFIH 0 210
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9210 SFET=EH 0 361
9220 X ETHH 0 555
9230 $EHTE M 0 668
9240 $EHETIEE 0 264
9250 5% HT At #r b 0 541
9999 S XET 2 6638
9310 E[FHET:AR 0 180
9320 H[ZHETAL 0 236
9330 F[SAT/INE 0 149
9340 R [ZHTR 0 369
9999 WG XET 0 934
9410 RETT & 0 349
9420 RHETHHE 0 212
9430 RETFEXK 0 140
9440 RETAEF 0 11
9450 RHETHER 0 18
9460 RET{—_HE 0 30
9470 RETEXR 0 7
9480 RHETHER 0 56
9999 RIXXEt 0 823
99999 H&ET 16 58102



